@ (3,4) ® (0,8)

@® (-6,0)



ohS LAPYY FAH 2% (-1, 4) 7h 7} He A mE w2
9

® 3x-2y=-11 @4)6—%)/:10
@ -2x+3y=14 @ -7Tx+2y=5

® -0.5x+2.5y =11



3x-y=10 9 57} 2 & 9]

o =
= &

ot

3.

@ (1, 7) @ (2, -4

@ (0, -10)

® 4, -2)

@ (3, -1)



ARG A {

@© (-4, -1)
@ 4, -1)

0.4x+0.5y=1.1

%(2x+y) =2
@ (-4, 1)
® 4, 1)

o
=

i

i

® (-1, 3)



Si7F (2, 2) & W, a +2b O] FH2?



ol S|7} (3,6) & w, aSt b 9]

@ a=5b=2

@ a=-5b=-2



7. FAASx-y-4=0%ax+y=122 o] &7} (2,b) &
a,b 9] = 77} obH?

D a=-3,b=6 @ a=3,b=6
®a=3,b=-6 @ a=-3,b=-6

® a=-2.b=-6



@ x=2y=1

-3

® x=10,y

@ x=2y=-3

® x=-3,y=10

® x=-2,y=3



ol 7} (a, b) L W, ax b 2] FHe?

® -10 @ 20 ® -100



9

o, 44 a o) 3

=35}
- =

b

B 0



3x+5y=1

@ x=1y=2

@ x

:—l’y:2

@O x

-2, y=-1

:—2’}):1

® x

®x=2 y=-1



1S, b - 3a 9



- S oAy 2 A oz 2

® @+ Ox2 2 ATF
@ @x2-0 & AT

® @ olA x=4-2y & © o et
@ Ol y=2c-32 @ o thaiet.
® @AMy = px+280 @t



7F 4x -3y =11 =

9]

9

|

ax+4y=a+5

St ?

23

a °]

@ 6 ® 9

® 2



N7t 3x + 2y

S

g

x+2y=a

09

a °] 3k

® -10

@ -8



o7t 2x+y=92 L wfl, 5 a

®

®
N

©)



